Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200

INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
3/4 X 5-1/2 HILTI STD STUD ANCHOR KB-TZ 5
DOTTIE WS14214 SS WEDGE ANCHOR 1
CT ASSEMBLY FOR RX R-603, NOZ. N3E/N3B 1
CT ASSEMBLY FOR RX R-603,N3A/N3C 1
SH-15-01 Spring Can Assembly 1
Y2"x2-1/2” stud bolt-co-mo ,193 gr b7, pt 9
% X 9 B16 W/2 GR7 NUTS 24
% X 9 B16 W/2 GR7 NUTS 24
%"x4” STUD BOLT - CR-MO (A193 GR B7), 9
11/4" X7 1/2"STUD BOLT - CR-MO (A193 G 40
1 GRIN 137 U BOLT W/4 NUTS 5
1" X 6 1/2"STUD BOLT - CR-MO (A193 GR B7 64
1/2 X 2-1/2 (2-1/4 FTF) BLK STUD BOLT 8
1/2 X 2-1/2 (2-1/4 FTF) BLK STUD BOLT A1 16
1/2" X 2 1/2"STUD BOLT - CR-MO (A193 GR 8
1/2" x 2-1/2"STUD BOLT, FULL THRD, ASTM 32
1/2" X 2-1/2"STUD BOLT, FULL THRD, ASTM 16
1/2" X3 1/2"STUD BOLT - CR-MO (A193 GR 12
1/2" x 3" STUD BOLT - (A193 GR B7) W/ CS 8
1/2" X 3" STUD BOLT - CR-MO (A193 GR B7) 8
1/2" X 3"STUD BOLT - CR-MO (A193 GR B7) 12
1/2" X 3"STUD BOLT - CR-MO (A193 GR B7) 8
1/2-13 X 3 B7 ATS W/2 2H NUTS 4
1/2"X 3 1/2"STUD BOLT - CR-MO (A193 GR 8
1/4 X 1" PIPE 316 U-BOLT W/(2) HEX NUTS 22
1/4" X 3/4" PIPE 316 U-BOLT W/(2) HEX NU 22
1-1/4" X 10" STUD BOLT - CR-MO (A193 GR 60
1-1/4" X 9" STUD BOLT - CR-MO (A193 GR B 60
1-1/8 X 6 BLK STUD BOLT A193 -B7 W/2 HEX 24
1-1/8" X 16-1/2" STUD BOLT - CR-MO (A193 48
2 U BOLT CS WITH DOUBLE NUTS 4
3 GRIN 137 U BOLT W/4 NUTS 2
3/4 X 1/2 150/3K/6K T316/316L SS HEX 1
3/4 X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 16
3/4 X 4 (3-3/4 FTF) BLK STUD BOLT 50
3/4 X 4-1/2 (4-1/4 FTF) BLK STUD BOLT 8
3/4 X 4-1/4 (4 FTF) BLK STUD BOLT 10
3/4 X 5-1/2 (5-1/4 FTF) BLK STUD BOLT 16
3/4" STUD BOLT - CR-MO (A193 GR B7) W/ C 28
3/4" X 4-1/2" STUD BOLT - CR-MO (A193 GR 10
3/4" X 4-1/2" STUD BOLT - CR-MO (A193 GR 16
3/4" X 4-1/4"STUD BOLT, FULL THRD, ASTM 8
3/4" X 5" STUD BOLT - CR-MO (A193 GR B7) 12
3/4" X 5"STUD BOLT - CR-MO (A193 GR B7) 8
3/4" X 5"STUD BOLT - CR-MO (A193 GR B7) 8
3/4" X 6"STUD BOLT - CR-MO (A193 GR B7) 8
3/4" X 7" STUD BOLT - CR-MO (A193 GR B16 28




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
3/4" X 7-1/2" B7 STUDS WITH NUTS 88
3/4"X 4.5"LG STUD BOLT - CR-MO (A193 GR 16
3/4"X 6"LG STUD BOLT - CR-MO (A193 GR B7 24
3/4"X5" STUD BOLT - CR-MO (A193 GR B7M) 8
3/4"X6" STUD BOLT - CR-MO (A193 GR B7M) 12
3/4"x7" stud bolt a193/b7 w/ 2 hex nuts 44
3/4X6-1/2 B7 STUD W/ DBL HEX NUT 24
3/4X7-1/2 B7 STUD W/ DBL HEX NUT 28
3/4X8 B7 STUD W/ DBL HEX NUT 24
3/8" X 2" PIPE 316 U-BOLT W/(2) HEX NUTS 55
4 U BOLT CS WITH DOUBLE NUTS 2
5/8 X 3 (2-3/4 FTF) BLK STUD BOLT 8
5/8 X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 32
5/8 X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 16
5/8 X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 4
5/8 X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 4
5/8 X 3-1/2 (3-1/4 FTF) STUD BOLT 24
5/8 X 3-3/4 (3-1/2 FTF) BLK STUD BOLT 32
5/8 X 4 (3-3/4 FTF) STUD BOLT A193-B7M 16
5/8 x 4 1/2" STUD BOLT - CR-MO (A193 GR 16
5/8 x4 1/2" STUD BOLT - CR-MO (A193 GR 16
5/8 X 5-1/2 (5-1/4 FTF) BLK STUD BOLT 8
5/8" X 3 1/2"STUD BOLT - CR-MO (A193 GR 20
5/8" x 3" STUD BOLT CR-MO (A193 GR B7) 24
5/8" x 3.5" STUD BOLT - (A193 GR B7) W/ 8
5/8" X 3.5" STUD BOLT - (A193 GR B7) W/ 4
5/8" X 3-1/2 (3-1/4 FTF) BLK STUD BOLT 400
5/8" X 3-1/2" STUD BOLT - B16 (A193 GR 4
5/8" X 3-1/4" STUD BOLT - CR-MO (A193 GR 8
5/8" X 3-3/4"STUD BOLT, FULL THRD, ASTM 88
5/8" X 3-3/4"STUD BOLT, FULL THRD, ASTM 8
5/8" X 3-3/4"STUD BOLT, FULL THRD, ASTM 8
5/8" X 3-3/4"STUD BOLT, FULL THRD, ASTM 4
5/8" x 4" STUD BOLT - (A193 GR B7) W/ CS 16
5/8" X 4"STUD BOLT - CR-MO (A193 GR B7) 20
5/8" X3- 3/4"STUD BOLT, FULL THRD, ASTM 8
5/8”x4-1/2” STUD BOLT - CR-MO (A193 GR B 9
5/8X6-1/2 B7 STUD W/ DBL HEX NUT 20
7/8 X 10-1/4 B16 W/2 GR7 NUTS 52
7/8 X 9 B16 W/2 GR7 NUTS 32
7/8" X 7" STUD BOLT - (A193 GR B16) W/ C 12
7/8X5-1/2 B7 STUD W/ DBL HEX NUT 24
DOTTIE HNBZ12 HEX NUT 1
DOTTIE MBS1434 SS HEX MACH BOLT 1
MRC1-1/4X7-1/2(7-1/4FTF)BLK_STUDBOLTA193 20
PN: 18321 Bolts - HCS 5/8-18 x 4.5 P8 336
PN: 36263 Lock Nuts - HEX JAM 5/8-18 P 356




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200

INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
PN: 36413 Nuts - 5/8"-11 FHN P 8 356
1 3000# T316/316L SS COUPLING SW SA182 8
3/4 3000# BLK CS COUPLING SW SA105 2
3/4 3000# T316/316L SS COUPLING SW 8
FEM COUPLER X FEM NPT 3" 2
KOP-FLEX COUPLING 1
GGCC5AR030M ST/ST DUPLEX SINGLMODE 30MTR 15
GGCL5AR010M SC/ST DUPLEX SINGLMODE 10MTR 10
GGCL5AR030M SC/ST DUPLEX SINGLMODE 30MTR 10
GGCL5AR035M SC/ST DUPLEX SINGLMODE 35MTR 10
GGCL5AR035M SC/ST DUPLEX SINGLMODE 35MTR 15
Energy 304SS 16x32x2 Motor Filter 2
1 3000# BLK CS 90 DEG ELL SW SA105N IMP 20
1 3000# BLK CS 90 DEG ELL SW SA105N IMP 2
1 3000# BLK CS TEE SW SA105 1
1 S80S T304/304L SS SR 90 DEG WELD ELL A 7
1 SS S80 304L SMLS 45 ELL 2
1/2 6000# BLK CS 90 DEG ELL THD SA105 4
1-1/2 3000# BLK CS 90 DEG ELL SW SA105N 1
1-1/2 S80S T304/304L SS SR 90 DEG WELD E 5
1-1/2 S80S T304/304L SS SR 90 DEG WELD E 4
1-1/4 S80S T304/304L SS LR 90 DEG WELD E 10
1-1/4 S80S T304/304L SS SMLS WELD TEE A4 2
1-1/4 S80S T304/304L SS SR 90 DEG WELD E 4
1-1/4 S80S T304/304L SS SR 90 DEG WELD E 3
1-1/4 S80S T304/304L SS SR 90 DEG WELD E 2
2 XH BLK CS LR 90 DEG WELD ELL SA234 WPB 5
3 STD BLK CS LR 90 DEG WELD ELL SA234 3
3 STD BLK CS LR 90 DEG WELD ELL SA234 1
3 STD BLK CS WELD TEE A420 WPL6 2
3 X 1-1/2 XH BLK CS ECC WELD REDUCER 1
3 X2 STD X XHBLK CS CONC WELD REDUCER 1
3/4 3000# BLK CS 90 DEG ELL SW SA105 2
3/4 3000# BLK CS 90 DEG ELL SW SA105N 10
3/4 3000# BLK CS 90 DEG ELL SW SA105N 5
3/4 3000# BLK CS 90 DEG ELL SW SA105N 1
3/4 3000# BLK CS TEE SW SA105N IMP 2
3/4 3000# BLK CS TEE THD SA105 10
3/4 6000# BLK CS 90 DEG ELL SW SA105N 1
4 STD BLK CS LR 45 DEG WELD ELL SA234 2
4 STD BLK CS LR 45 DEG WELD ELL SA234 1
4 STD BLK CS LR 90 DEG WELD ELL SA234 12
4 STD BLK CS LR 90 DEG WELD ELL SA234 11
4 STD BLK CS LR 90 DEG WELD ELL SA234 10
4 STD BLK CS LR 90 DEG WELD ELL SA234 9
4 STD BLK CS LR 90 DEG WELD ELL SA234 7
4 STD BLK CS LR 90 DEG WELD ELL SA234 2




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

4 X3 STD BLK CS ECC WELD REDUCER SA234
4"ELL - 90 DEG, LR, STD WT, SMLS, CS (A

4" TEE - STD WT, SMLS, CS (A234-WPB), B1
4" TEE - STD WT, SMLS, CS (A234-WPB), B1

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 45 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234

6 STD BLK CS LR 90 DEG WELD ELL SA234
6" TEE - STD WT, SMLS, CS (A234-WPB), B1

8 X6 STD BLK CS ECC WELD REDUCER SA234
8 X8 X4 STD BLK CS REDUCING WELD TEE
B-LINE BFV371-2G 3-HOLE 90 DEG. (6 EA)
SS-1210-2-16 %" tube 90 elbow %"NPT 316
SS-1210-2-16 4/” tube 90 elbow 1”"NPT 31
SS-1210-3 3/4” tube tee 316

SS-1210-3 3/4” tube tee 316

5S-810-9 SS Swagelok Tube Union Elbow 1/

1 150# BLK CS S/W FLG RF XH BORE SA105N
1 150# T304/304L SS W/N FLG RF S80S SA18
1 300# BLK CS S/W FLG RF XH BORE SA105N
1/2 150# BLK CS S/W FLG S160 BORE RF
1-1/2 150# BLK CS S/W FLG RF XH BORE
1-1/2 150# T304/304L SS W/N FLG RF S80S
1-1/2 300# BLK CS S/W FLG RF S160 BORE
1-1/2" FLG - SW, CL 600, RF, 1% CR (A182
1-1/4 150# T304/304L SS W/N FLG RF S80S

2 150# BLK CS THD FLG RF SA105

2 150# BLK CS W/N FLG XH BORE RF SA105
2 300# BLK CS BLIND FLG RF SA105N IMP

2 300# BLK CS S/W FLG RF XH BORE

2 300# BLK CS W/N FLG RF XH BORE SA105N
3 150# BLK CS W/N FLG FF STD BORE

3 150# BLK CS W/N FLG FF STD BORE

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

.|>4>J>—\amov—\m—ncoA.nou—\wg.h'g—\Mmboo—\—n—\MAbbmmovoocog—nwwmmbmAm—\g




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS BLIND FLG RF SA105

3/4 150# BLK CS S/W FLG RF S160 BORE
3/4 150# BLK CS S/W FLG RF S160 BORE
3/4 150# BLK CS S/W FLG RF XH BORE

3/4 150# BLK CS S/W FLG RF XH BORE

3/4 150# BLK CS S/W FLG RF XH BORE

3/4 150# BLK CS S/W FLG XH BORE RF SA105
3/4 150# BLK CS THD FLG RF SA105N IMP
3/4 300# BLK CS S/W FLG RF S160 BORE
3/4 300# BLK CS S/W FLG RF XH BORE

3/4 300# BLK CS S/W FLG RF XH BORE

3/4" FLG - SW, CL 300, RF, CS (A105), SC
3/4" FLG - SW, CL 600, RF, CS (A105), SC

4 150# BLK CS BLIND FLG RF SA105N IMP

4 150# BLK CS THD FLG RF SA105

4 150# BLK CS W/N FLG RF STD BORE

4 150# BLK CS W/N FLG RF STD BORE

4 150# BLK CS W/N FLG RF STD BORE

4 150# BLK CS W/N FLG RF STD BORE

4 150# T304/304L SS BLD FLG RF SA182 1-1
4 150# T304/304L SS W/N FLG RF S40S SA18
4 300# BLK CS BLIND FLG RF SA105N IMP

4 300# BLK CS W/N FLG RF STD BORE

4" FLG - WN, CL 150, RF, CS (A105), STD

4" FLG - WN, CL 150, RF, CS (A105), STD

4" X 50 FT METAL HOSE W/FLANGES

4" X20 FT METAL HOSE W/FLANGES

6 150# BLK CS W/N FLG RF STD BORE

6 150# BLK CS W/N FLG RF STD BORE

6 150# BLK CS W/N FLG RF STD BORE

6 150# BLK CS W/N FLG S160 BORE RF SA105
6 300# BLK CS BLIND FLG RF SA105N IMP

6 300# BLK CS W/N FLG RF STD BORE

6" FLG - WN, CL 150, RF, CS (A105), STD

8 150# BLK CS W/N FLG RF STD BORE
BLIND FLANGE 5"-300# CS RF
MRC24"150BLK_CS_BLIND FLG RT SA105N_IMP
"2"" GASKET - CL 150, 316 SS, SPW, INHIB
"3"" GASKET - CL 300, 316 SS, SPW, INHIB
%"x150 GASKET - CL 150, ALLOY 20, SPW, P

(o)
<

NININ[=2N[= O] N|IN|IN[oO|o|=N[o oo |22 |W|B|N[=2 2B 2NN 222 NNNIN | =2 22 INININ NN




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY 9

c www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
1 BONNEY V083637 800# 316L SS GSKT W GRA 200
1 BONNEY V083637 800# 316L SS GSKT W GRA 120
1 LAM WRI 150# SP WND GSKT GRF FLR 20

1 LAM WRI 150# SP WND GSKT GRF FLR

1" GASKET - CL 300, 304 SS SPW, APX2

1" GASKET - CL 300, 316 SS, SPW, INHIBIT

1" GASKET - CL 300, ALLOY 400, SPW, INHI

1" GASKET RF, CL 300, 316 SS SPW INHIBIT
1"GASKET, CL 150, 316 SS, SPW, INHIBITED
1"GASKET, CL 150, 316 SS, SPW, INHIBITED
1.5" GASKET, 0.175" THK, RF, 150LB, SPW,
1.5"GASKET, CL 150, 316 SS, SPW, INHIBIT
1.5"GASKET, CL 150, 316 SS, SPW, INHIBIT

1/2 BONNEY V803619 1500# 316L SS GSKT W
1/2" GASKET - CL 300, 316 SS, SPW, INHIB

10" GASKET - CL 150, ALLOY 400, SPW, INH
10" GASKET - CL 300, 316 SS, SPW, INHIBI

10" GASKET - CL. 600, 304 SS SPW, LOW OX
10" GASKET: FLANGE SPIRAL: PIPE SIZE: 10
10" R-53 RING GASKET - CL 600, 5 CHROME
10" R-53 RING GASKET - CL 600, 5 CHROME
1-1/2 LAM WRI 150# SP WND GSKT GRF FLR
1-1/2 LAM WRI 150# SP WND GSKT GRF FLR
1-1/2 LAM WRI 150# SP WND GSKT GRF FLR
1-1/2 LAM WRI 3/4/600# SP WND GSKT GRF
1-1/2" GASKET - CL 150, ALLOY 400, SPW,
1-1/2" GASKET - CL. 300, ALLOY C-276 SPW
1-1/2" GASKET - CL. 600, 304 SS SPW, LOW
12" GASKET - CL 150, ALLOY 400, SPW, INH
16"GASKET, CL 150, 316 SS, SPW, INHIBITE
16"GASKET, CL 150, 316 SS, SPW, INHIBITE
18" GASKET - CL 150, ALLOY 400, SPW, INH
18"GASKET, CL 150, 316 SS, SPW, INHIBITE

2 BONNEY V083640 800# 316L SS GSKT W GRA
2 BONNEY V083640 800# 316L SS GSKT W GRA
2 LAM WR 150# SP WND GSKT GRF FLR MON
2 LAM WR 150# SP WND GSKT GRF FLR MON
2 LAM WRI 150# SP WND GSKT GRF FLR

2 LAM WRI 150# SP WND GSKT GRF FLR

2 LAM WRI 150# SP WND GSKT GRF FLR

2 LAM WRI 3/4/600# SP WND GSKT GRF FLR

2 LAM WRI 3/4/600# SP WND GSKT GRF FLR
2" GASKET - CL 150, 316 SS, SPW, INHIBIT

2" GASKET - CL 150, ALLOY 400, SPW, INHI 16
2" GASKET - CL 300, ALLOY 400, SPW, INHI 26
2" GASKET - CL. 300, ALLOY C-276 SPW, IN 6
2" GASKET, 0.175" THK, RF, 300LB, SPW, 3 3

alnlojofo|loSlo(v|e|s|Rw|o| 2N |w|o| s

-
o

(@216, [ec] [e>] [oo] | \N] [e)] | \N]

-

N
=

el Bl LA B B[220 LS LS




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
2" LAM WRI 150# SP WND GSKT GRF FLR 150
2" LAM WRI 300# SP WND GSKT GRF FLR 150
2"x150 GASKET - CL 150, ALLOY 20, SPW, P 12
24" 150 1/8 LG-SS RING GASKET 1
24" GASKET - CL 150, ALLOY 400, SPW, INH 4
24"GASKET, CL 150, 316 SS, SPW, INHIBITE 4
24"GASKET, CL 150, 316 SS, SPW, INHIBITE 2
3 LAM WRI 3/4/600# SP WND GSKT GRF FLR 1
3" GASKET - CL 150, 316 SS, SPW, INHIBIT 6
3" GASKET - CL 150, ALLOY 400, SPW, INHI 8
3" GASKET - CL 300, ALLOY 400, SPW, INHI 8
3" GASKET, 0.175" THK, RF, 150LB, SPW, 3 1
3" GASKET, 0.175" THK, RF, 300LB, SPW, 3 3
3" GASKET, SPR WND, CL150, 316SS W/ FLEX 1
3" LAM WRI 150# SP WND GSKT GRF FLR 100
3"GASKET, CL 150, 316 SS, SPW, INHIBITED 2
3"GASKET, CL 150, 316 SS, SPW, INHIBITED 1
3/4 LAM WRI 3/4/600# SP WND GSKT GRF 4
3/4" GASKET - CL 300, ALLOY 400, SPW, IN 32
3/4" GASKET - CL. 300, ALLOY C-276 SPW, 2
3/4" GASKET - CL. 600, 304 SS SPW, LOW O 12
4 LAM WRI 300# SP WND GSKT GRF FLR 2
4 LAM WRI 300# SP WND GSKT GRF FLR 1
4" GASKET - CL 150, 316 SS, SPW, INHIBIT 4
4" GASKET - CL 150, 316 SS, SPW, INHIBIT 2
4" GASKET - CL 150, 316 SS, SPW, INHIBIT 2
4" GASKET - CL 150, ALLOY 400, SPW, INHI 20
4" GASKET, SPR WND, CL150, 316SS W/ FLEX 3
4" GASKET: FLANGE SPIRAL: PIPE SIZE: 4", 12
4" LAM WRI 150# SP WND GSKT GRF FLR 100
4"GASKET, CL 150, 304 SS, SPW, INHIBITED 2
4"GASKET, CL 150, 316 SS, SPW, INHIBITED 4
4” GASKET - CL 150, ALLOY 20, SPW, PTFE, 2
4’x150 GASKET - CL 150, ALLOY 20, SPW, P 2
6" GASKET - CL 150, ALLOY 400, SPW, INHI 16
6" GASKET - CL 300, 316 SS, SPW, INHIBIT 3
6" GASKET - CL. 600, 304 SS SPW, LOW OXI 6
6" GASKET, 0.175" THK, RF, 150LB, SPW, 3 2
6" GASKET, 0.175" THK, RF, 300LB, SPW, 3 10
6"GASKET - CL 300, 316 SS, SPW, INHIBITE 2
6"GASKET SPR WND CL150 FLEX GRAPH W/ALLO 1
6” GASKET - CL 150, ALLOY 20, SPW, PTFE, 2
8" GASKET - CL 150, ALLOY 400, SPW, INHI 10
8" GASKET - CL. 300, 304 SS SPW, APX2 G 4
8" GASKET - CL. 600, 304 SS SPW, LOW OXI 6
8" GASKET, SPR WND, CL150, 316SS W/ FLEX 2
8" GASKET: FLANGE SPIRAL: PIPE SIZE: 8", 12




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

8" R-49 RING GASKET - CL 600, 5 CHROME O
8" R-49 RING GASKET - CL 600, 5 CHROME O
8" R49 RING GASKET - CL 600, 5 CHROME OC
8"GASKET - CL 300, 316 SS, SPW, INHIBITE
8"GASKET, CL 150, 316 SS, SPW, INHIBITED
BONNEY V083565 800# 316L SS GSKT FOR 1/2
BONNEY V083565 800# 316L SS GSKT FOR 1/2
C-145 CHANNEL GASKET LP1 37.5 X 35.5X 1
C-145 SHELL GASKET LP137.5 X 35.5 X 1/8
ELP1-00063850 Shell Cover Gasket
ELP1-00063851 Floating Head Gasket
ELP1-00063857 Chanel Cover Gasket
ELP1-00063858 Channel cover gasket
ELP1-00063858 Channel to tube sheet gskt
ELP1-00063859 Tubesheet to Shell gasket
ELP1-00063860 Shell cover gasket
ELP1-00063861 Floating head gasket
ELP1-00063862 Channel Cover Gasket
ELP1-00063863 Channel Tube Sheet Gasket
ELP1-00063864 Tube Sheet to Shell Gasket
ELP1-00063865 Floating Head Gasket

FCU B-1 GASKET
GSKT,FLGSP:10",1500LB,WRI/CGI/RWI,0.175"
GSKT,FLGSP:3",1500LB,WRI/CGI/RWI,0.175"
GSKT,FLGSP:4",1500LB,WRI/CGI/RWI,0.175"
GSKT,FLGSP:8",1500LB,WRI/CGI/RWI,0.175"
MRC24X1/16THK_GAR3000_150#BLUEGARDGSKT
PART#: RGASKETX202

R12 RING GASKET - CL 1500, 316 SS OCTAGO
R12 RING GASKET - CL 1500, 316 SS OVAL R
R-603 GASKET (SEE ATTACHED DRAWING)
SPIRAL WOUND WRI GASKETS 5"-300# 304SS
SPIRAL WOUND WRI GASKETS 5"-300# 304SS
SPIRAL WOUND WRI GASKETS 5"-300# 304SS
1-1/2" IRON 4-LUG AIR KING HOSE END 1-CL
2" IRON 4-LUG AIR KING HOSE END 1-CLIP
2"X30' SMART HOSE MXM

3" X 50FT GAMMAFLEX PETRO HOSE ASSY TEST
ARMSTRONG 2033P-50 HOSE STATION
1282324 CEM PUMP REBUILD KIT

Kit #K11676

MOUNTING KIT FOR ANODE

TRE1725-KIT ELEMENT TRITON COALESCING FI
DISPLACER OPERATED LEVEL SWITCH
JERGUSON LEVEL GAUGE MODEL: 78 TCH20
1950-0-2F DP METER

BROOKS FLOW METER

(o)
<

=W

-
-

N B B B EILY LY EN Y B B B TS ] [N] (O] (9] [0 BN [ O EN 1o




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200

INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
MINI OVAL GEAR METER MRT-5104 1
1 X 24 S160 BLK CS SMLS PIPE NIPPLE TOE 1
1 X3 S160 BLK CS SMLS PIPE NIPPLE PBE 6
1 X4 S160 BLK CS SMLS PIPE NIPPLE TBE 15
1 X 8 S80S T316/316L SS SMLS PIPE NIPPLE 6
1 X 8 S80S T316/316L SS SMLS PIPE NIPPLE 6
1/2 X 4 XXH BLK CS SMLS PIPE NIPPLE PBE 3
1/2" NIPPLE - XXS, SMLS, CS (A106-B), TB 6
1/2" NIPPLE - XXS, SMLS, CS (A106-B), TB 6
1/2" NIPPLE - XXS, SMLS, CS (A106-B), TB 4
1-1/2" NIPPLE - SCH 160, SMLS, 17 CR (A3 1
3/4 X 3 S160 BLK CS SMLS PIPE NIPPLE 4
3/4 X 3 S160 BLK CS SMLS PIPE NIPPLE 2
3/4 X 3 S160 BLK CS SMLS PIPE NIPPLE 1
3/4 X4 S160 BLK CS SMLS PIPE NIPPLE 25
3/4 X4 S160 BLK CS SMLS PIPE NIPPLE 4
3/4 X 4 S160 BLK CS SMLS PIPE NIPPLE 4
3/4 X 4 S160 BLK CS SMLS PIPE NIPPLE 3
3/4 X 4 S160 BLK CS SMLS PIPE NIPPLE 3
3/4 X4 S160 BLK CS SMLS PIPE NIPPLE 3
3/4 X 4 S160 BLK CS SMLS PIPE NIPPLE 2
3/4 X 4 S160 BLK CS SMLS PIPE NIPPLE 2
1 S80S T304/304L SS SMLS PIPE PE SC 17/2 43
1 X2.17# PTC XH .179 BLK CS SMLS PIPE 42
1 X2.17# PTC XH .179 BLK CS SMLS PIPE 10
1 X 2.17# PTC XH .179 BLK CS SMLS PIPE S 21
1 X 2.17# XH .179 BLK CS SMLS PIPE SC 20
1 X 2.17# XH .179 BLK CS SMLS PIPE SC 10
1/2 XXH (.294) BLK SMLS PIPE A106B SRL 22
10 X 40.52# STD .365 BLK CS SMLS PIPE 20
1-1/2 S80S T304/304L SS SMLS PIPE PE SC 24
1-1/2 S80S T316/316L SS SMLS PIPE PE SC 23
1-1/2 X 3.63# XH .200 BLK CS SMLS PIPE 10
1-1/4 S80S T304/304L SS SMLS PIPE PE SC 22
2 X 5.03# XH .218 BLK CS SMLS PIPE BEV 40
2 X 5.03# XH .218 BLK CS SMLS PIPE BEV 20
2 X 5.03# XH .218 BLK CS SMLS PIPE BEV 15
2 X 5.03# XH .218 BLK CS SMLS PIPE BEV 12
2 X 5.03# XH .218 BLK CS SMLS PIPE BEV D 20
2-1/2 X 5.80# STD .203 BLK CS SMLS PIPE 20
3 X 7.58# STD .216 BLK CS SMLS PIPE BEV 40
3 X 7.58# STD .216 BLK CS SMLS PIPE BEV 15
3 X 7.58# STD .216 BLK CS SMLS PIPE BEV 10
3 X 7.58# STD .216 BLK CS SMLS PIPE BEV 10
3/4 X 1.48# PTC XH .154 BLK CS SMLS PIPE 21
3/4 X 1.48# XH .154 BLK CS SMLS PIPE SC 40
36->1-1/2 X 3/4 3000# BLK CS SW PIPET 1




Material - Management « Resources 1304 Langham Creek, #200
Houston, TX 77084

Phone: (281) 944-4260
Fax:  (281)944-4218

INVESTMENT RECOVERY-
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
36->3 X 1 3000# BLK CS SW PIPET MSS 1
36->8 X 2 3000# BLK CS SW PIPET MSS 1
4 X 10.80# STD .237 BLK CS SMLS PIPE 160
4 X 10.80# STD .237 BLK CS SMLS PIPE 140
4 X 10.80# STD .237 BLK CS SMLS PIPE 120
4 X 10.80# STD .237 BLK CS SMLS PIPE 120
4 X 10.80# STD .237 BLK CS SMLS PIPE 100
4 X 10.80# STD .237 BLK CS SMLS PIPE 60
4 X 10.80# STD .237 BLK CS SMLS PIPE 21
4 X 10.80# STD .237 BLK CS SMLS PIPE 10
6 S40S T316/316L SS WELD PIPE PE SC 22
6 X 18.99# STD .280 BLK CS SMLS PIPE 80
6 X 18.99# STD .280 BLK CS SMLS PIPE 64
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 60
6 X 18.99# STD .280 BLK CS SMLS PIPE 40
6 X 18.99# STD .280 BLK CS SMLS PIPE 22
6 X 18.99# STD .280 BLK CS SMLS PIPE 21
6 X 18.99# STD .280 BLK CS SMLS PIPE 20
6 X 18.99# STD .280 BLK CS SMLS PIPE 20
6 X 18.99# STD .280 BLK CS SMLS PIPE 9
6 X 18.99# STD .280 CS SMLS PIPE BEV 20
8 X 28.58# STD .322 BLK CS SMLS PIPE 20
8 X 28.58# STD .322 BLK CS SMLS PIPE 10
0Z-G 14-100G 1 IN PIPE STRAP RGD 2
S40S T316/316L SS WELD PIPE PE SC 10
STABILIZER,3 HOLE,3"PIPE SLOTS 30
PVC 1-IN-PVC-SCHED-80-10FT COND 10' 1
#4 REBAR 4
LIQUID LEVEL TRANSMITTER 1
PIT-280122 TRANSMITTER [WP 20-1614] 1
PIT-280161A TRANSMITTER [WP 20-1614] 1
TEMP. TRANSMITTER 1

1 OMB 610-8-SW 800# FCS BB FP GATE VLV 1

1 OMB 810-8-SW 800# FCS BB RP GATE VLV 8
1 OMB 810-8-SW 800# FCS BB RP GATE VLV S 1
1/2 BONNEY HL-13-SW/T 800# FCS BB GATE 2
10" 150# ALLOY 20 SWING CHECK VALVE 1
1-1/2 SMITH 0830-GTOOO 300# GATE VALVE 2
1-1/2" 300# GLOBE VALVE 1
1-1/2" GATE - API 602 LATEST ED., CL 150 1
1-1/2" GATE VALVE- API 602 LATEST ED., C 1
12" 150# DURCO PLUG VALVE 1




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

16 POWELL FIG. 559 125# CHECK VLV

2 BONNEY HL-11-SW 800# FCS BB GATE

2 KITZ 150SCOHSYN NACE 150# C.E. SWING

2 KITZ 300SCLS 300# CS BB GATE VALVE FE

2 OMB 810-12-SW 800# FCS BB RP GATE VLV
2 OMB 810-8-SW 800# FCS BB RP GATE VLV

2" 150 WARREN SWING CHECK

3 KITZ 150SCLNN-NACE 150# C.E. GATE VLV

3 KITZ 150SCOHNN-NACE 150# C.E. SWING CK
3" 300# KITZ 300SCLNN-NACE GATE 3 300#

3" AMOT VALVE

3/4 150# BONNEY L1-14 3/4 NACE GATE MOD
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 BONNEY HL-11-SW/T 800# FCS BB GATE
3/4 OMB 810-8-SW 800# FCS BB RP GATE VLV
3/4 OMB F3-810-8-RF 300# FCS BB RP GATE
3/4" CHECK VALVE, LIFT, CLASS 300, RF, C
3/4" GATE VALVE - API 602 LATEST ED., CL
3/4" GATE VALVE - API 602 LATEST ED., CL

4' 600 GATE FT (VALIN)

4 KITZ 150SCLSNN 150# WCB RF MONEL BB

4 KITZ 150SCLSYN NACE 150# C.E. GATE VLV
4 KITZ 150SCOHNN-NACE 150# C.E. SWING CK
4" 150# FIG 411 DURCO VALVE

6 KITZ 150SCLS 150# CS BB GATE VALVE FE
6" 150 CHECK VALVE API 594

BABBITT CIRG-2.5 Cl VALVE ADJ SPROCKET
BAYVALVECRANEVALVE10"150WCBGATE47XUF
BAYVALVECRANEVALVE2-1/2_300WCBGLOBE151XU
NPS 4 V300 FCV-100126 REPLACEMENT VALVE
Oblong Float Ball, 6.46 oz, 4 in dia

PCV-14305 / BLOW DOWN VALVE 306-SPHERE
SS-62TF4 3 Piece 60 Series Ball Valve

SS-63TF8 3 Piece 60 Series Ball Valve
SS-63TS8 63 Series Ball Valve 1/2" Swage
SS-CHS8-1 CH Series Check Valve 1/2 Swag
SS-RL4S8 SS Low Pressure Prop Relief Val

I\)—\U‘lCD—\—l—\—\A—l—kAl\)—\w—\—\-h-hmwhl\)l\)wwwwwwbh-bhw—\A—\—\—\AI\)—\—\AI\)—\g




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
1 HARDEN WASHER F436 TYPE 1 PLAIN 850
1" WASHER-CS THROUGH-HARDENED PER ASTM F 100
1" WASHER-CS THROUGH-HARDENED PER ASTM F 100
1" WASHER-CS THROUGH-HARDENED PER ASTM F 100
1-1/4 HARDEN WASHER F436 TYPE 1 PLAIN 740
1-1/8 HARDEN WASHER F436 TYPE 1 PLAIN 1,000
1-1/8" WASHER - CS, THROUGH-HARDENED PER 96
3/4 HARDEN WASHER F436 TYPE 1 PLAIN 800
3/4 HARDEN WASHER F436 TYPE 1 PLAIN 1,000
3/4" WASHER - CS, THROUGH-HARDENED PER A 56
3/4" WASHER-CS THROUGH-HARDENED PER ASTM 150
5/8 HARDEN WASHER F436 TYPE 1 PLAIN 800
7/8 HARDEN WASHER F436 TYPE 1 PLAIN 1,000
7/8" WASHER - CS, THROUGH-HARDENED PER A 24
DOTTIE LWBZ12 LOCK WASHER 1
DOTTIE LWS14 SS LOCK WASHER 1
IDEAL 30-451 YEL TW WIRE NUT-100 (300) 1
OKONITE 112-31-3735 1
WIRE BARE-SD-2/0-19STR-CU-1000R 40' 1
XHHW-6-BLK-7STR-CU-50 WIRE (4000) 1
11/8"-12 C-3 A-105 Shoulder Plugs for F 50

1 2/6000# BLK CS SOLID RD HEAD PLUG THD 5

1 2/6000# BLK CS SOLID RD HEAD PLUG THD 3

1 3000# BLK CS STEEL SEAT UNION THD 10

1 X 3/4 S160 BLK CS SMLS CONC SWAGE

1 X 3/4 XH BLK CS SMLS CONC SWAGE

1.984" ORIFICE FE-280159 [WP 20-1614]

1/2 6000# BLK CS STEEL SEAT UNION THD
1/2"X3" STUD, A193-B7, w/2 A194-2H HVY H
1/2-13 X 5-1/2 B7 ATS W/2-2H

10389-05845 7/8-9 X7 ATS B7 A19
10389-05846 1 -8 X 6 ATS B7 A193

1-1/2 BONNEY V083639 G5 1500# 316SS BONN
1-1/2 X 1 3000# BLK CS REDUCING CPLG SW
1-1/2 X 1 S80S T304/304L SS CONC WELD RE
1-1/2 X 12 XXH A/SA312 T304/304L SMLS NI
1-1/2 X 3.63# PTC XH .200 BLK CS SMLS

1-1/2 X 3.63# PTC XH .200 BLK CS SMLS

1-1/2" ELBOLET - CL 3000, SW, CS (A105),
1-1/2" SOCKOLET - CL 6000, 172 CR (A182-F
1-1/2" X 9-1/2" B7 STUDS

1-1/2X3/4 SS S80 304L SMLS CONC

1382015 CEM SINGLE STAGE SAMPLE PUMP
1416284 IR-8400 CEM ANALYZER

16" FIELD MOUNTABLE STEM EXTENSION FOR 1
1GAL CAN FLAT SAFETY YELLOW AS5600 SYSTE
2" 92B WCC 150RF 5-15 SPRING 92B-1112-41

NN RN NNNE R AN R R G F I EN S B B ES




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

2" CPL ADPT POLY PRO DIXON PPA200

2"x 11" W/8ea 5/8"BH Ona33/4"B.C

2.362" ORIFICE FE-280160 [WP 20-1614]

2-8 X 19 (18-3/4 FTF ) B16 ATS W/2 GR7

3" 1500# 347 FLEX

3" DUST PLUG SS

3" DUST PLUG SS

3.125 X 2.125 X 1/8 LG-SS RING

3/4 2/6000# BLK CS SOLID RD HEAD PLUG
3/4 BONNEY L1-14S-RF 150# A105 BB OS&Y
3/4 NIPOLET - SCH 160, BEVELED END OR EQ
3/4 OMB 810-8-SWXTHD 800# FCS BB RP

3/4 OMB 810-F316/L-12-SWXTHD800#

3/4 OMB F1-810-5-RF-N 150# FCS BB RP

3/4 OMB MB-810-8 FPT X MSW 800# FCS BB
3/4 RISER CLAMP, GALV. LONG EAR FOR 4" H
3/4 SARCO CT-SW 600# CS STRAINER SW 20
3/4 X 1.48# PTC XH .154 BLK CS SMLS

3/4 X 1.48# PTC XH .154 BLK CS SMLS

3/4 X 1.95# PTC S160 .219 BLK CS SMLS

3/4 X3 T410 SOLID RD HEAD PLUG THD

3/4 X3 T410 SOLID RD HEAD PLUG THD

3/4" ARMSTRONG 2011

3/4" X 3-1/2" B7 STUDS

3/4"-16 NF 7/8"UH A105 CS SHOULDER PLUG
3/4"X4.5" STUD, A193-B7, w/2 A194-2H HVY
3/4"X4.5" STUD, A193-B7, w/2 A194-2H HVY
3/4"X5" STUD, A193-B7, w/2 A194-2H HVY H
3/4"X5.5" STUD, A193-B7, w/2 A194-2H HVY
3/4-10 X 5 B7 ATS W/2-2H

30" 900#, SERIES A, SPIRAL ROUND 347 SS,
300 37.625 X 36.625 X 1/8 STEEL FG E-1

300 37.625 X 36.625 X 1/8 STEEL FG RING
3015T442 39-3/8" Long x 1-1/8" Wide x 7/
3015T85 Vibration-Damping Routing Clamp,
305 INTEGRAL MANIFOLD

305 INTEGRAL MANIFOLD

305 INTEGRAL MANIFOLD [WP-20-1614]
3051S1TG3A2A11A1AB4E5M5Q4Q8

32-13/16" OD x 24-13/16" ID x 1/8" LG-SS

36" FIELD MOUNTABLE STEM EXTENSION FOR 8
36"W x 21-1/4"H x 17"D Gray Rock River®
36->1 X 3/4 3000# BLK CS ELBOLET SW
36->1 X 3/4 3000# BLK CS ELBOLET SW
36->1 X 3/4 3000# BLK CS ELBOLET SW
36->1 X 3/4 3000# BLK CS ELBOLET SW
36->1 X 3/4 3000# BLK CS ELBOLET SW

(o)
<

N B Y Y N A N B B B N N LB N N B N NN E R B N B N A A B B I N B R N R IR RN EEE




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

36->1 X 3/4 3000# BLK CS ELBOLET SW

36->1 X 3/4 3000# BLK CS ELBOLET SW

36->1 X 3/4 3000# BLK CS ELBOLET SW

36->1 X 3/4 3000# BLK CS ELBOLET SW

36->1 X 3/4 3000# BLK CS ELBOLET SW

36>1-1/4 X 3/4 XH BLK CS NIPOLET PE

4 X 1-1/4 FLAT WELDOLET S40S, A182-F304/

4 X 1-1/4 S40S X S80S T304/304L SS CONC

4 X 3 X4 XOMOX 067FJ-FT-2-6-P1-WYNACE,

4" X 3/4" SOCKOLET - CL 3000, CS (A105),

4" 600# R37 RING JOINT SPEC BLINDS

4-1/2 x 9 with 8ea. 3/4”B.H. On A 7-1/

5/8"X3.5" STUD, A193-B7, w/2 A194-2H HVY
5/8"X4" STUD, A193-B7, w/2 A194-2H HVY H
5/8"X4" STUD, A193-B7, w/2 A194-2H HVY H

6" TYPE 2S BASE SUPPORT ONE TIME ADJUSTA
6" TYPE 6A WEAR PLATE OR SUPPORT PLATE S
6->2-1/2 X 3/4 S160 BLK CS NIPOLET PE

7/8-9 X 6 (5-3/4 FTF ) B16 ATS W/2 GR7
ARMSTRONG 2011 3/4" SW [20-1448]
ARMSTRONG PT-206 CAST IRON PUMP TRAP
ASCO EF8320G714* SOLENOID 24VDC,SST,
BAFFLE,FLOW REVERSING,DUCT BNR

B-LINE *** 95S4-2352

B-LINE ATR-1/2X120-SS6 ALL THRED (60 FT)
BUR KC28 1-4/0 STR 3/4 POST 1 CON

BUR YGHP34C26 250-500 TO 1/0-2/0

BUR YGLR29C34 2-250 GRD GRID TO 2
BUS BAR BBI-6A-20 20
BUS BAR BBI-7A-20 20
C-03A 3/4-10 X 9 (8-3/4 FTF) B16 ATS W/2 52
C-03A 7/8-9 X 13-3/4 (13-1/2 FTF) B16 AT 68
C-03B 3/4-10 X 6 (5-3/4 FTF) B16 ATS W/2 24
C-03B 3/4-10 X 8-3/4 (8-1/2 FTF) B16 A 36
C-CHANNEL # 3015T442 1
COLLAR STUDS

CORNING-C 2806031-01 FUSION SPLICE PROT
CRS C27-SA 3/4 NPT AL C FORM 7

CRS EYD1 1/2 NPT THRU FEMALE CST

CRS LCC2 3/4 CAB TRAY CNDT CLAMP

CRS N2PS1111R ST

CRS RE61-SA 2 TO 1/2 AL REDUCING
CRS***NCS24FA

CRS***XLPBDS2342120 36120

DANGER SIGN, SIGN FORMAT TRADITIONAL OSH
DANGER SIGN, SIGN FORMAT TRADITIONAL OSH
Davidson Sales RKLD101-TFE-TFE Repair Ki

(o)
<

o] [NCY PO0Y PR ENY 1o°Y 1o N N /31 FS0) (SN N [FNY (RN N Y (Y PN

-
O] [ ] PN P [N RN PN XY
o

-
N

NN

-
o

N et e B [ B )




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200

INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’ 9
c www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

Davidson Williams- V Part #CP125V125CRTG
Davisdson Sales PN# MDL100420

DEF FLUID (1 55 Gal Drum)

DEF FLUID (1 55 Gal Drum)
DYKMAN10HPMOTOR10F4EG841TSH-GLOBAL-841-
DYKMANHB0052TECO-MAXE2-841-5HP-36-TEFC
EA-104526 300 20.9375 X 20.125 X 1/8 STE

EGS ECO-104 1-1/2 IN ALUM CLP ON
ELP1-00063849 Tube Sheet to Shell

ELP1-00063857 Channel To Tube Stl

Encon SCBA Cabinet WC12Y10B
ENERGYMANAGEMENT14.8HIDROSTALMOTOR&PUMP
ERC 683400 RODGROUNDSS3/4X10

ERICK'S 3/4" FEM NPT X 1" MALE NPT

Flowserve Innomag V1-2x1.5x6-TBM
FLOWSERVEJ-862SUFFINGBOXPB0445030
FX86.FCHAG2HXDNBX

GOOSENECK FAUCET GRAINGER #493K01
GRAINGER4ZT46LEGACYAIROPERATEDPUMP6.6GPM
GROUND REELS

GT66 Glass adhesive tape (30 Ea)

HMND TN2A0075KBKF XFORMER
HOLBROOKJ-126GEARBOXLMV311S/N88410500
HOLBROOKSUNDYNE7.5HP3510PRM3PH60HZ213HPZ
HON975859 BAG CARRY VINYL ALUMINUM 5 MIN
IMPLR,PUMP:34D4812,S2819P-110

Jensen B138N 620 STD G-BOX ASSY-GFLT-CAP
Kaman SKF 3306AC3

Kaman SKF TKBA 20 Alignment Sensor
M-32-H02-0043-A1-1A 2" X 43"

MANIFOLD AND SIGHT GADES

MODEL 1095E FREEZER PLATE, ENHANCED VERS
Motion&Flow CM-E-4100B Pleated Glass

OKON 112-31-3781 3C 2/0

OKON 112-31-3793 3C 350

OR-C-BIT-1 1" One-rev Bit

OR-T-1000-10 1" 10-11Ga / 7/8" 14-15- On

OVEN DRYRODII PORTABLE TYPE ONE 10 LB
0Z-G 143G 1 IN CLAMPBACK

P100C950S27 1-8 X 9-1/2 B7 ATS W/2-2H
P100C950S27 1-8 X 9-1/2 B7 ATS W/2-2H
P75C800S27 3/4-10 X 8 B7 ATS W/2-2H

Part number 6491K437

PART#: 1V659605292

PART#: 1V659705092

PART#: RPACKX00302

PN: 2007068 O-RING # 474 BLACK TYPE 1

(o)
<

-
[\ BN IRy IR RN 'qn ) ¥ SN PEEY) JEEN) JENN) JERY) [ {o ) [EEY) JNRY) JEEY) RN BRY) Y § 6}




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084
RESPONSIBILITY’

69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description

PN: 2856319 Raychem JBM-100-L-A Lighted
PN: 350216 Raychem T-100 Splice or Tee C
PN: 3517466 Raychem D-100-L-A Lighted En
PN: 355888 POLYWATER FO-32 CLEANER
PN: 866142 FLUKENET QUICK CLEAN 1255P
PN: N/S ANIXTER LCSTDUPSM-1M CONNECTORS
PN: N/S ANIXTER STX12FSM-3M PIGTAIL CONN
Pre-Amplifiers P/N 1-504-05-500
R&RMACHINEMOTORBASE324B2STYLEB2
R182-LP-RA1-E1 DOUBLE HEAD PUM

R37, SHAPE: OCTAGONAL, GR F-5
RAYCHEM***RTD4AL

REBUILD E-1 RV PILOTS

ROTORAQ 1Q3 MOD 2C IQ35DRIVEBUSHONLY
SA-00122079 W-HTG 58 X 66 X 0.25 316L CO
SB-011386 WR 21.6875 X 22.4375 X 23.3125
SB-011387 WR 25.5625 X 26.5625 X 27.5625
SD-004275 WRP 21.625 X 22.375 X 23.25 X
SEAL COOLER NX0625FW

SecureSync Model 1200-013

SMALL DIM FUSE

SPARE PARTS FOR HORIBA CALIBRATION 11/2018
SS-1210-1-12 %" tube male connector %4’
SS-1210-1-12 %" tube male connector %"
SS-1210-1-16 %" tube male connector 1’"NP
SS-1210-1-8 %" tube male connector ¥2” NP
SS-1210-1-8 % tube male connector 2" NP
SS-1210-C 34" Tube plug 316

SS-12-TA-1-8 %" tube connector %2” NPT 3
SS-32-RB-8 SS Swagelok Tube 1/2" Tube OD
SS-810-1-4 SS Swagelok Tube 1/2" Tube OD
SS-810-1-8 1/2" Tube OD x 1/2 Male NPT
SS-810-1-8 SS Swagelok Tube Male Connect
SS-810-3 SS Swagelok Fitting Tube Union
SS-810-7-4 SS Swagelok Tube 1/2" Tube O
8S8-810-7-8 SS Swagelok Tube 1/2" Tube OD
SS-810-P SS Plug for 1/2" Swagelok Tube
SS-T12-S-065-20D %" SS Tubing (0.065” wa
SS-T8-S-049-20D 1/2 O.D. x .049 Wall 3/1
STEAM REG. FS92C-14 1/2" 92C STEEL

(o)
<

=ININ[=N

ala
o|o

-
2O BININININ[ === oIN[—~ N

o

STSTDUPSM-10M ST/ST DUPL SINGLMODE 10MTR 10
STX12FSM-3M 12 STRAND SINGLMODE ST - BLU 10
STX12FSM-3M 12 STRAND SINGLMODE ST-BLU 6
SW_THERMALTECHINC1509-08-048-052EXCHANGE 1
T&B 5233ALGR 3/4IN STR LT (100) 1
T&B 5233ALGR 3/4IN STR LT (100) 0
T&B LTA200-50 2 INCH ALUM (50) 1




Phone: (281) 944-4260
Fax:  (281)944-4218

Material - Management « Resources 1304 Langham Creek, #200
INVESTMENT RECOVERY- Houston, TX 77084

RESPONSIBILITY’
69 www.materialmg.com

Salt Lake City, UT.
IRM-21-007A
Warehouse & Turnaround Materials
The inventory is for reference. Buyer resposible to verify completeness.

Material Description Qty
T&B LTA75-100 3/4 INCH ALUM (100)
TE/TW-100914

TIG Large Gas Lens Collets size: 45V63
TIG Large Gas Lens Collets size: 45V64
TIG Large Gas Lens Collets size: 99579
TSH-VFD-G9-40HP@460-N1

TUBING SUPPORT # 3015785

13,1 RN ) FN FN] N [N




